Question No.1: (3z — y)” is equal to:

(a) 3z° + ¥ + 3zy (b) 3z* + y* — 3zy

(c) 922 + y* + 6y W) 922 + y° — 6y

Question No.3: The solution of linear equation 2x = 10 — 3z is:
(% (b) 3

(c)5 (d) 10

Question No.5: Metersin 1.5 Km are:

(a) 1000 m M/IEUU m
(c) 2000 m (d) 2500 m

Question No.7 : If a horse covers a distance of 165 km in 3 hours,

f{)55 km/h

(d) 65 km/h

then his average speed will be:
(a) 50 km/h
(c) 60 km/h

Question No.9: The area of the given shape is:

7 m

3m

2m

(b) 14 m?
) 29 m?®

(a) 9 m?

(c) 21 m?

Question No.2: The point (—5, —11) lies in the quadrant:
(a) 1st Quadrant (b) 2nd Quadrant
3rd Quadrant (d) 4th Quadrant

Question No.4: The equation of the statment "cost of 5 pencils and
8 books is Rs 1250" will be:

(a) by — 8y = 1250 (b) b — 8x = 1250
(c) bz — Tz = 1250 W) 5z + 8y = 1250
Question No.6: 108km/h in m/s will be:
\éiﬂmfs (b} 31m/s

(c) 32m/s (d} 33m/s

Question No.8 : If the radius of a circle is 14 cm, then the area of

the circle will be:

(a) 506 cm? (b) 516 cm?
(c) 606 cm? &) 616 cm?
Question No.10 : The shortest distance of point A from the given
line is:




Question No.1: (a — 5b)” is equal to:
(a) a® — 25b% — 10ab (b) a® — 25b6° + 10ab
W a? + 25b% — 10ab (d) a® — 5b% — 25ab

Question No.3: The solution of the linear equation
de — 9 =12z — 25 is:

(a) 1 {Hﬁ

(c)3 (d) 4

Question No.5: Metersin 2.1km are:

(a) 2000m \f(fllﬂ[}rn

)
(c) 21000m (d) 22000m

Question No.7: If a horse covers a distance of 165 km in 3 hours,

N(SS km/h

(d) 65 km/h

then his average speed will be:
(a) 50 km/h
(c) 60 km/h

Question No.9 : The area of the given shape is:

Sm

im

2m
(a) 9 m? W/lS m?
(c) 27 m? (d) 36 m?

Question No.2: The Point (5, —9) lies in the quadrant:
(a) Quadrant - | (b) Quadrant - Il
(c) Quadrant - 1ll (d‘},Quadrant- Y

Question No.4: The linear equation for the statement "the
difference of two numbers is 20" will be:

Yz —y=20 (b) & — 2y = 20
(c)2x +y = 20 (d)x + 2y = 20
Question No.6: 72 km/h in m/s will be:

{3'7/2[1 m/s (b) 30 m/s

™ 40 m/s (d) 50 m/s

Question No.8 : If the radius of a circle is 7 cm, then the
circymference of circle will be:

(™ 44 cm
(c) 46 cm

(b} 45 cm
(d} 47 cm

Question No.10 : The shortest distance of fixed point A from the

given line is:



Question No.1: (3p — 2g}? is equal to:
(a) 3;02 2{}2 + 12pq (b) Sp2 2(;[-2 — 12pq
o 9p% + 4¢° — 12pg (d) 9p? + 4¢2 + 12pg

Question No.3 : The solution of linear equation 5(2x — 1) = 15is:

2 (b) 3

(c)4 (d)5

Question No.5: Metersin 2.5 km are:
(a) 25m (b) 250 m

2500 m (d) 25000 m
Question No.7: Atrain covers a distance of 140 km in 2 hours, its
avepage speed is:
ﬁ km/h

(c) 150 km/h

(b) 140 km/h
(d) 280 km/h

Question No.9: The area of given figure is:
2cm

9cm

3cm

2cm

{a)-t'i cm?

(b} 16 em?
(c) 18 em? \4 24 em?

Question No.2: The point (1, —5) lies in the quadrant:
(a) Quadrant-| ‘{? Quadrant-li
(c) Quadrant-II| ) Quadrant-IV

Question No.4: Amir bought 5 bats and 8 balls for Rs. 4200,
equation of this statement will be:

(a) ox + 8 = 4200 d}l bx + 8y = 4200
(c) b + 8y = 4200 (d) b — 8y = —4200
Question No.6: 54 km/h in m/s will be:

15 m/s (b} 18 m/s
(c) 20m/s (d}) 24 m/s

Question No.8: If the radius of a circle is 14 cm, then the area of
the circle will be:

(a) 506 cm?
(c) 606 cm?

(b) 516 cm?
616 cm?

Question No.10 : The shortest distance of fixed point A from the
given line is:



Question No.1: (a — 5b)* is equal to:
(a) a? — 25b% — 10ab (b) a* — 25b* + 10ab
M a? + 25b6% — 10ab (d) a® — 5b% — 25ab

Question No.3: The solution of the linear equation
e — 9 =12z — 25His:

(a) 1 {Bﬁ

(c) 3 (d) 4

Question No.5: Metersin 2.1km are:

(a) 2000m \‘(mmm

)
(c) 21000m (d) 22000m

Question No.7: If a horse covers a distance of 165 km in 3 hours,

then his average speed will be:
(a) 50 km/h N{ 55 km/h

(c) 60 km/h (d) 65 km/h

Question No.9: The area of the given shape is:

Sm

M

2m
(a) 9 m? QMIS m?
(c) 27 m? (d) 36 m>

Question No.2: The Point (5, —9) lies in the quadrant:
(a) Quadrant - | (b) Quadrant - |l

{dﬂ’Quadrant- \

Question No.4: The linear equation for the statement "the
difference of two numbers is 20" will be:

(c) Quadrant - [l

Yz —y=20 (b) z — 2y = 20
(c)2x + y = 20 (d)x + 2y = 20
Question No.6: 72 km/h in m/s will be:

{a')/ED m/'s (b) 30 m/s

™ 40 m/s (d) 50 m/s

Question No.8: If the radius of a circle is 7 cm, then the
c:? mference of circle will be:
4

(¥ 44 cm (b) 45 cm
(c) 46 cm (d) 47 cm

Question No.10 : The shortest distance of fixed point A from the
given line is;



Question No.1: (3a — b)* is equal to:
(a) 9a® + 2ab + b? 90 — 6ab + b*
(c) 9a* — 6ab — b* (d) 9a* + 6ab — b

Question No.3: The solution of the linear equation
dr — 9 = 12z - 251s:

o v

(c)3 (d) 4
Question No.5: Metresin 4.3 km are:

(a) 430 m Ma m
(c) 43000 m (d) 430000 m

Question No.7: If a car cowérs 100 m in 10 sec then its speed will
be:

(a)5m/s b)10m /s
(c) 15 m_/s (d) 20 m/s
Question No.9: The area of the given shapeis:

Sm
3 m

2m

(a) 9 m? \W
() 27 m* (d) 36 m*

{a)15.71cm

Question No.2: The Point (5, —9) lies in the quadrant:

(a) Quadrant - | (b Quadrant - Il

(c) Quadrant - Il d) Quadrant - IV
Question No.4: Amirbought 5 bats and 8 balls for Rs. 4200,

equation of this statement will b:‘/
(@)dz + 8 = 4200 )ox + 8y = 4200

(c) 5 + 8y = 4200 (d) 5z — 8y = —4200

Question No.6: 72 km/hin m/s will be:
\Ms (b)30m/s

(c) 40 m/s (d) 50 m/s

Question No.8 : If the radius of a circle is 2.5cm, then the
circumference of the circle will be:

(b) 18.71cm
(d)21.64cm

(c).19.64 cm

Question No.10: The shortest distance of point A from the given
lineis:

F L 2 E G
(a) AE (b) AC
(c)AF ;



Question No.1: (3p — 2¢)°is equal to:
(a) 3p” + 2¢° + 12pg (b)3p® + 2¢* — 12pg
aé) 9p? + 4¢° — 12pq (d)9p* + 4¢° +12pq

Question No.3: The solution of linear equation 5r — 15 — 2zis:

(@) 5 (b) £

S 0

QuestionNo.5: Metersin2.1km i(r?
(a) 2000m ) 2100m
)

(c) 21000m (d) 22000m

Question No.7: If a car covers 100 min 10 sec thenits speed will
be:

=

1

(a)5m/s )10m/s  p

()15 m/s (d)20 m /s
Question No.9: The area of given figure is:

2cm
9cm
3cm
2cm

(a) 6 cm? (b) L8 em?

(c) 18 cm® 24 em?

Question No.2: The point (3, —6) liesin the quadrant:

(a) (b) Il
‘f\kan (d) IV

Question No.4: The equation of the statment "cost of 5 pencils and
8 books is Rs 1250" will be:

(a) by — 8y = 1250 (b) 5z — 8z = 1250
(¢) 5z — Tz = 1250 \}j)fur + 8y = 1250
Question No.6: 90km/hin m/s will be:

%5 m/s (b) 26 m/s
(c) 2T m/s (d) 28 m/s

Question No.8 : If the radius of acircleis 7 cm, then the
cirgumference of circle will be:

A)44cm
(c) 46 cm

(b)45cm
(d) 47 cm

Question No.10: The shortest distance of fixed point A from the
given line is:

A

(b)
(d)

| 2
5 &l



Question No.1: (3a — b)° is equal to:
(a) 9a? + 2ab + b* (b) 9a® — Bab + b
(c) Da? — Bab — b2 (d) 9a® + Bab — b

Question No.3 : The solution of linear equation 5(2x — 1) — 15s:

(a) 2
(c) 4

(b) 3
(d) 5

Question No.5: Metersin 2.1km are:
(a) 2000m (b} 2100m
(c] 21000m (d} 22000m

Question No.7 : Atrain covers a distance of 140 km in 2 hours, its
average speed is:

(a) 70 km/h
(c) 150 km/h

(b) 140 km/h
(d) 280 km/h

Question No.9: The area of given figure is:

acm
12cm
2cm
(a) 200 e’ (b} 24 em?
(c) 30 em” (d) 54 em?

Question No.2 : The point (—3, —6) lies in the quadrant:

(a) | (b) Il

{c) 1l (d) IV

Question No.4 : The equation of the statment "cost of 5 pencils and
8 books is Rs 1250" will be:

(a) by — By — 1250 (b) bz — Bx = 1250

{c)dx — To = 1250 (d) b + By = 1250

Question No.6: 108km/h in m{s will be:

(a) 30my/s (b) 31m/s

(c)32m/s (d) 33m/s

Question No.8 : The circumference of the circle with radius 5 cm is:
{a] Hmem (b} 10w cm

(c} 15mcm (d) 25w cm

Question No.10: The shortest distance of fixed point A from the
given line is:
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a ) Factorize: z° — 7z + 10 (5 Marks) j

(£5)z? — Tz + l[]_.;_,:,fd;zg
r""

- LA
Rubric:
r? — Tz +10 2% = Tz +10
— 22 — 22 — 5z + 10 (2 marks) — 92— 2¢ — 5z + 10 (#2)
= z(x — 2) — B(x — 2) (2 marks) = z(z —2) — 5{z — 2) (ﬁ‘;z)
=(z—2)(zx—5) (lmark) ;

= (z — 2)(z — 5) #1)



Solve the equation 4z +— 2 = 2(x — 5) (5 Marks)

(ﬁ;’.ﬁ}-u:.;rj!ilﬂ: + 2 =2(x — 5)lols
i

Rubric: =
Az + 2 = 2(z — 5) dzr2=2@"5)
4y + 2 = 22 — 10 {1 mark) dz + 2 = 2z — 10(#1)
dr — 2z = —10 — 2 (1 mark) 4z — 2z = —10 — 20#1)
2r = —12 (1 mark) B 12(},;?1)
r = —6 (2 marks)

e — —6(2)



a ) If a bus covers a distance of 93 km in one hour, then find its speed in m/s. (5 Marks)

(A5)o g St s A b S i S &t 58 Al 22893 A (0]

Speedofbus =~ T 7 7 J‘Usdu-=93:fur"ﬁ(/l)
93 = 1000 _ 931000
_ 83000
3600 (1 = 9%3;][:? ( / 1)
= 25.83 1 P

— 95.83 £C4 2 (+2)



Construct a triangle ABC such that mAB = 5.3 em, mBC = 8. 4demand mZB = 120°. (5 Marks)
(#5)-#m/B = 120° smBC = 8.4 X 5 mAB = 5.3 X ¥ £t ABCaLs [

For drawing line segment mAB = 5. 3 em (1 Mark) {gﬁﬁ.ﬁmﬁ — 5.3 X5 (1)
For drawing an angle of 120" with the help of compass at point il BLE ;Ijb’lﬂi}c;.ud#;%(f‘}l)

B. (1 Mark) : N e y

: - : ¥ R — jirr o '.n."‘
For drawing line segment mBC = 8.4 em (1 Mark) {_?l}.*ﬁ’mﬂ(? % 4'/’#;(’; ; )
Join points Band C (1 Mark) 4lbd Cu BE(A1)

For completing and correct labeling (1 Mark] @Lffyﬂgjlugw;r(ﬁ} 1)

- — - = =



a ) A bus starts travelling from Lahore at 7:20 a.m. and reached Sakhar at 9:40 p.m. Find the duration of journey. (8 Marks)
(;3)_9:;(’31“’=:F;:;E'ﬁ-;:_ﬁfég/ﬁc,;9:4ﬂélxlea:.d/f,;;}‘;.;ﬁu,;?IEDC'JL_,F'...{I

departure time from Lahore=7:20 a.m =7 hours 20 minutes (1.5

marks) ::s,aﬁ’.-_,?fmr_mu=7:2ﬂ=?£ 20w 1.5)
arrival time at Sakhar =9: 40 p.m = 21 hours 40 minutes (1.5 ;3,5’%}:9:4(}:2 1,53;#4[];_:#(/1} 1.5)
m;frks] - 2185 400 #1)
ours Minutes i :
i il 1 ek -7 202 #1)
— 7 20 (1 mark)

14882002+ (+2)

14 2() (2 marks)

_Unk = 1488 20044 1)
duration of journey=14 hours 20 minutes (1 mark)



If the radius apd height of the cylinder are 4 cm and 10 cm respectively. Find the surface area of the cylinder. (7 marks) \
# - F | b by koA kS Yoon b, 7
i AN o 360 S e 2 G510 2 G 4l s S1id 01

Total surface area of cylinder= 2ar(r + h) (1 mark) *'-:""Uﬁkfd“‘#: 2tr(r + h) A1)
Total surface area of cylinder= 2 x % x 4(4 + 10) (2 marks) J:f&’ﬁdﬁjﬂ*: 2 x 2 x 4(4410) (+2)

. TG = b i y
Total surface area of cylinder= 17(14) (2 marks) f-;’iublﬁffdiil’— 1{,—*’(14] (#2)
Total surface area of cylinder= 352 em? (2 mark)

\ Jiuﬁiﬁffdﬂiﬁl’: 352,;{&%&/' (;"‘2)



a ) Factorize x> — 17z — 38. (5 Marks)
(#5)- /64 Sx? — 172 — 38

¢ — 17x — 38 z? — 17z — 38
= 2% — 192 + 22 — 38 (2 Marks) = gz — 192 + 2z — 38(;:}2)
= z(z — 19) + 2(z — 19) (1 Mark) z(z — 19) + 2(z — 19)(#1)

= (z + 2)(z — 19) (2 Marks) — (z + 2)(z — 19)(#2)



Solve the equation 6z — 2 = 4(x — 7). (5 Marks)

(ﬁfﬁ}-u:/f!ﬁﬁﬂ? —2 =4l — Tl

bx —2=4(x —T) bz — 2 = 4(z ‘T}
br — 2 =4x — 28 (1 mark) 6z — 2 = 4z — 28(~1)
—4dx + 6x = —28 + 2 (1 mark) —4r 4+ 6xr = —28 + 2(,#;[)
2r = —26 (1 mark) 2 =im Eﬁ(;:}l)
?T’:_TEG (1 mark) g_r:%(ﬁ}l)
r=—13 (1 mark) ; =

r = —13(~1)



Solve the equation 6z — 2 = 4(x — 7). (5 Marks) N\

(/—'}5)-;_{’:/(;}&;6::: —2=4(x — T)=tsl~
_

& ' -

br —2=4(xz—T7) bz — 2 4&“ _T:]

6z — 2 =4x — 28 (1 mark) bx — 2 = 4z 25(/"_’[)
—4x + 6x = —28 + 2 (1 mark) —Ax + 6x = 28 + 2041)
2r = —26 (1 mark) 21 = E'ﬁ(ﬁPl)
2 - =0 (1 mark) 3 ;
3 3 2 — (A1)
r=—13 / (1 mark) )

—13(#1)

=



A 5) - L Gsbesl S e § ST = 0§ 283 2 80 FEE3 E 1 283 2 K60 F 252 K

Rubric:

Distance covered=SpeedxTime

Distance covered in 2 hours=60x2=120 km (1 mark)
Distance covered in 3 hours=80x3=240 km (1 mark)
Total distance covered=120+240=360 km (1 mark)

Total Mg tan ce eovered

Avera ge SpEEd: Total time taken
Average speed= % (1 mark)
Average speed=72 km/h (1 mark)

.L-"Eufr:i. = x=0y

Ioinr S 5 2=60x2=120 25
Alias S S 3=80%3=240, 55
Loy L F=120+240=360% ¥

13 Tatal Distan ce covered
-II o k!
M b Teodtal tirne taken

Jaxﬁrﬂ: 60
9]

Gobesi=T2 283 28

(£1)
(£1)
1)

(£1)
(1)



Construct a right angled triangle ABC in which mAB = 5em, m/B = 60" and right angle at point A. (5 marks)
(/7"“5)-3?..; ALD s EGmsB = 60"em AB = 5}5J?ufu€ufhﬁﬁfjljjﬁ_g

v [
Rubric: - - il :f;,u
For drawing line segment mAB = bem. 1 mark) -{.g mAB = 5.ﬁfﬁﬁ(ﬁl)
For constructing right angle at point A. 1 mark) -,;L.b;:f,-lj.?’l?;; ALE( A1)

e tm/B =60°"(+2)

(

(
For constructingm./B = 60°. (2 marks)
{ _;;L.fru‘f‘:':f;uﬂ.}_./f;l';in@(ﬁ; 1)

For completing triangle and correct labelling. (1 mark)

= - a - - L



a ). Junaid watched a movie for 2 hours 25 minutes which ended at 1:15 PM. When did he start to watch the movie? (8 marks)
(AR)0SEs ped s A1 3 41015 PMat s A5 00 e

Rubric:

s
Timein24hour= 1:15 +12 (1 mark) . e
Timein24 hour =13 : 15 (1 mark) :»’Ju¢£24--- 1:15 +12(#1)
Ending time = 13 h 15 min (1 mark) ;ﬁgufﬁﬁmz 13:150~1)

Film watching time= — 2 h 25 min (1 mark) =396 {F 1= 13 h 15 min( #1)

Startingtime = 10 A 50 min (2 marks) :E’K'ﬁf’|/b2 — 2 h 25 min(~1)
=k ET= 10 h 50 min(#2)

=hE6T= 10: 500(1)
=hET= 10 50 AMCZ1)

Starting time = 10 : 50 (1 mark)
Startingtime= 10:50 AM (1 mark)



If the radius and height of the cylinder are 7cm and 4cm respectively. Find the surface Area of cylinder. (7 marks)

(ﬁ?)-u:/ﬁ":ly,._;;iﬂdfntb“_q_ﬁ&rﬂ-;ﬁlﬁcf?'#}EJEJUJ@’IHKJ;L'_Q;'FF;

Radius of cylinder= 7cm (0.5 Mark) 1K= 2 (£0.5) .
height of cylinder=4cm (0.5 Mark) SUS =4 25 (F0.5)
surface area of cylinder=2nr(r + h) (1 Mark) . b,;r 7k :
3 ==2mr(r = h)(~1)
=2 x 3.14 x Tem(4em + Tem)  (2Marks) e Ml :
-(43.96cm)(11cm) (1 Mark) =2 x 3. 14 x 7(7 + 4) (#2)
-483.56¢cm? (2 Marks) =(43.96 x 11)(# 1)

=483.56 % 5 ¢ 2 (#2)



a ). Factorize: 2 — 7z + 10 (5 Marks)

(/7‘:5):1:2 — Tx + lﬂiu:/df

: :J,{!J
Rubric: j
:rz—?m—l—lﬂ x? — Tz + 10
= 2% — 22 — 5z + 10 (2 marks) =22 — 22 — 5z + 10 (/7}2)
= xz(x — 2) — 5(x — 2) (2 marks) — g — ). — B~ B (/7}2)

= (x — 2)(z —5)  (1mark)

(x — 2)(z — 5) (1)



Solve the equation 4z + 2 = 2(x — 5) (5 Marks)

(#5)-g /S faz +2 =2z — 5)ehl-

Rubric: :J.{.!‘J
dz + 2 = 2(x — 5) 4:[:%-222(:{:—'5)
4z + 2 = 2z — 10 (1 mark) 4z +2 =2z — 10(#1)
dx — 2x = —10 — 2 (1 mark) 43;_23::_10_2(/1;1)
2z = —12 (1 mark) o = _12(/1;1)

x = —0 (2 marks) 6(/‘;2)
&= .



a )_Bilal started his journey to move abroad at 9:30 am and reached the destination at 05:55 pm next day. Find his journey time. (8 marks)
(AR)- g/ 2 8 o L1151 J 25 4052550 Cn LS Es FE9:308 6ol md it

T Th—
Departuretime=9 : 30 am =S 1= 9: 30 am

= 9 : 30 (24 hours time) (1 mark) =9: 3[](0::'5*’&%24)(/7{1)
Arrival time =5 : 55 pm (next day) =5964T=5 1 55 pmlen &)
— 17 : 55 (24 hours time) (1 mark) =17 : 55(Ut e L 2 24) (A1)
24 hours time + next day) (1 mark i 2 G Z .
[: 17 : 55 + 24 = 41 : 55 :f )n'fark) } (L Eoarn L NAD
Journey time = Arrival time — Departure time (1 = 17399 +24 =41 :,55(/111)
mark) ::JJE//}”=.:'.3;E’.¢T—:EJE/L,{IM(/1;1)
=41 :50 — 9:30 =41:55 — 9:30
= 32 : 25 (1 mark) = 32:25(41)

= 32 hours 25 minutes (2 marks)

2 =328 2504 42)



A 50m deep well is dug whose radius is 3m, find the volume of well. (7 Marks) \

ANy e A6 e 30807 8 U L 4250

Radius of well =3m (0.5 Mark) JL-*F""EIU:;J/: 3}*"}(/{0-5)

Depth of well =50 m (0.5 Mark) d'/«.;u:::'/z 50,4(~0.5)

Volume of the well = ar’h (1 Mark) r’fKQ;f: :n:rzh(/:}l)
= 3.14 x (3m)” x 50m (2.5 Marks)

—3.14x(3 = Nx502 (+#2.5)

= 3 .
= 1413 m (2.5 Marks) = 14132 A (#2.5)



a ) A bus starts travelling from Lahore at 7:20 a.m. and reached Sakhar at 9:40 p.m. Find the duration of journey. (8 Marks)

(ﬁ}8)iu:/',|’:l”=:uuEfﬁi;f_.&g;/éc,;‘):ilf}:-unlf.&/f,}f_ﬁ"&xﬁﬂ@?ﬁﬂguf-ﬁ

departure time from Lahore=7:20 a.m = 7 hours 20 minutes (1.5

z s i
marks) K e xl=7:20=722 202 £ 1.5)
arrival time at Sakhar = 9: 40 p.m = 21 hours 40 minutes (1.5 &:K?i‘:'/@czt}:m:z 1 gﬁﬂ_f_;,.(ﬁ? 1.5)
T -
marks) 21 ﬁmw(ﬂl)
Hours Minules . 3
21 40 (1 mark) ~188202(A1)
— 7 20 (1 mark)
1422022 2)
14 20 (2 marks)

Lk =148 2004 F1)

duration of journey=14 hours 20 minutes (1 mark)



Lo *

7z’ + 19z — 6

=T7z°+ 21z — 22— 6 o

e =Tz*+ 21z — 2z — 6
=Tz(z +3) - 2(z + 3)

=(z + 3)(7z — 2)
=(z+ 3)(7Tz - 2)



=1 + 35 (5 marks)

4 3 7 _
3 _ 1 4z T-s=1x+1
15 10

l:ultipl;ing both sides by 30. c o P30l St
30x4§—30x%:30x17—5+30><1i0 30x 4 —30x2=30xL+30x %
0z -18=14+3z 40z —18 =14 + 3z

W0z~ =14 +18 10z — 3z = 14 + 18

(2= 32

gy % 31& ;32



a ) Ifa bus covers a distance of 93 kmin one hour, then find its speed in m/s. (5 Marks)

(A5) g/t I § 2 de S i S o o 28 L ok 2 K93 2 00 )

Speed of bus=93 km/h JUJJuf:QSﬁ/djfﬁ
_ 93x1000 m _ 93x1000
3600 s 3600

_ 93000 '
= S0 = 0
=25.83m/s — 95.83 0%



Construct a triangle ABC suchthat mAB = 5.3 cm, mBC = 8.4 cmandm/B = 120°. (5 Marks)
(#5)-vm/B = 120° #mBC = 8.4 % & mAB =5.3 HE B ABCaL

For drawing line segmentmAB = 5.3 cm (B SmAB=5.3 2§
For drawing an angle of 120 with the help of compass at point £ty B iK120° c.ug,f;b’,;
For drawing line segmenth_C =8.4cm ’:-"j-:'frb"b’mBg =8 /'fdi
Join points Band C (1 Mark) /.:/.-U'!(CJ!I B £

For completing and correct labeling . 4L/J‘[_*,L3;:IJ5J;/;:



If the radius and height of the cylinder are 7cm and 4cm respectively, Find the surface Area of cylinder. (7 marks)

(ﬁ}?)-d_/r}l”éxi/d/fii’-:‘;}fC‘kﬁlJJ'%&?#P&&%’.JU}!JIJJE/J/&‘u{f;'

Radius of cylinder=7cem Sz 2
height of cylinder=4cm 4 Ju 16 e
surface area of cylinder=2xr(r + h) .
KU st =2
=2 x 3.14 x Tem(4dem + Tem) ? 5/& Tele +8)

=(4396cm)(11(:m) =2 x 3.14 X 7(7 +4)
=483 .56cm? =(43.96 x 11)
=483.56% % &/



(F5)-f /o B § Koo $ ST 7 B0 253 1 B0 23 L 28 2 K60 £ E 2 KL

Distance covered=SpeedxTime

Distance covered in 2 hours=60%x2=120 km

Distance covered in 3 hours=80x3=240 km

Total distance covered

=120+240=360 km

_ Total Distan ce covered

Total time taken

Average speed—
Average speed= 3—?}0
Average speed=72 km/h

Loy S & =05 x 23

Mol S & 0=60x2=120,2 F
Aolins S & A 3=80x3=2402
Mol & F=120+240=360% #

% __ Total Distance covered
N b sl= Total time taken

SV ke sl= 32—0

)BJJ:/3|=72:—{J/}'-{)K



A 50m deep wellis dug whose radius is 3m, find the volume of well. (7 Marks)

(A8 A8 e sl AT o L £ 50

Radiusofwell =3 m 4 ,J’H{LZ"'/: 3%
Depth of well =950m dlfu(q}(: 50,<
Volume of the well = ar’h K"W,f’@ lh
= 3.14 x (3m)° x 50m =3.14x(3 % x50 %
= 1413 m’

= 14132 A



Jise ot il 8y 9573 b yoiiaS g 18T ol eS8 yieo 818 B2 b el il slsy S 58 by SO
(3:435) - 23S aslee ylidy gl yue oS Tl S 58

Lolsd ﬁjﬁ:b:;{_.:_._u X g

Distance covered = speed x Time Lals 5538 b
Distance covered in 5 hours =52x5=260 km (L Mark)
g’”ﬂlg i 4 B o] & ' v n‘,
Distance covered in 2 hours= 73x2=146 km (1 Mark) U 93 =73 X2 3240 6l5 =146 52, 915 i)
Total distance covered =260 +146 = 406 km (0.5 Mark) ol ess b
Total time = 5+2=Thours (0.5 Mark) Lold 15835 b = 146+ 260 = 406 320 515 (a3 0.5)
__ Total distan ce covered y

Average speed = Tedldisunce e e IS =5+2= 7 a8 (yue 0.5)

3kdy gl = Aold 0ayS b IS/edg IS
5L hma‘:L:ﬁWU
sUdy buagl =58 el 852 91S(50a37)

Average speed= i?,—'i (1 Mark)

Average speed = 58km/h (IMark)



Construct an equilateral triangle ABC of side length 4cm. (5 Marks)
(303 5) . ot o i 4 Slal S gl SOl S o ilo ABC Cllin g MY golua S

For drawing a line segment AB = 4cm. (1 Mark) 3 S AB = 4dem bs b Sl (heai 1)
| . | 98 93 S ulsy st w4 Byol A blai(hai 1)
For drawing two arcs of radius 4cm from pointAand B. (1 o
Mark) TR
For joining with the points A and B. (2 Marks) 3 Sha Byl A bl (.Fﬂ-' 2)

For completing and correct labeling the triangle. (1 Mark) 3 S Jed ey ol J5S JaSe eldza (Jeai 1)



a ) Factorize 4xy” + 6y° — 2y° — 12zy* (5 marks)

Rubric:

4z + 6y° — 207 — 123

= 242z + 3y — 1 — bzy) (1 mark)
= 21°(2z — 1 — 6xy + 3y) (1 mark)
= 2°[1(2z — 1) — 3y{22 — 1)] (1 mark)
= 2¢%(2z — 1) (1 - 3y) (2 marks)

(#5) dxy? + 6y° — 297 — 12zy° _ySGF
:J.-':JJ
dxy’ + 6y° — 2% — 12x9°
= 2y°(2x + 3y — 1 — 6zy) (1)
= 2¢°(22 — 1 — 62y + 3y) (A1)
= 29[1(22 — 1) — 3y(22 — 1)]#D
= 2y*(2z — 1) (1 — 3y) (#2)



Solve the equation 8z — 13 = 4(z — 2) (5 marks)

Rubrics:

8z — 13 = 4(x — 2)

Sr—13 =4x — & (1 mark)
By —4r =13 — 8 (1 mark)
dop =5 (1 mark)
= % (2 marks)

8z — 13 = 4(z — 2)
Sx—13 =4z — 8
Bx —4x =13 — 8
dpr =5

(/5)-4)/&;8.’13 — 18 = 4(31’ — 2) e

¢

M, A

1)
(D
£1)
(#2)



a ) The speed of a train is 52 km/h in 5 hours and 73 km/h in next 2 hours.Find the avrage speed of the train in 7 hours. (5 Marks)

(FS)oy S 9 b S FE 2SS S e 58372 57320 K1 283 1 K52t 03B B S S ol

.L‘En:fiai-;: X =2

Dfstance c-::uered.zspeed % Time ﬁﬁa}fi;ﬁu?ﬁégﬁi Xﬁﬁ;{=2ﬁﬂﬁﬁ(ﬁl)
Distance covered in 5 hours =52 % 5=260 km (1 Mark) o J ;j’ , ’E, , ,K :
Distance covered in 2 hours = 73 x2=146 km (1 Mark) Helins Uei¥ =73 X2 < ¥=146 (fq‘l)
Total distance covered =260 +146 = 406 km (0.5 Mark) ,LmGﬁ;fi.: 145"'2'5':]:4':'5/"{’{(/7[“*5)
Total time = 5+2=Thours (0.5 Mark) :.Tﬂ:LF:S +2=?£&(ﬁ"ﬂ.5)
__ Total dist ered .._ =
Average speed = == e taken B obest= dolins 5 s f
-, 406 ,
Wibal=—7—( 1
Average speed— 4—?5 (1 Mark) . v ) 7 (ff )
Average speed = 58km/h {1Mark) ;u;mmsx;ﬁdﬂﬁ/ﬂ)



Construct an equilateral triangle ABC of side length 4cm. (5 Marks)

For drawing a line segmentﬁ = 4dem. (1 Mark)

For drawing two arcs of radius 4cm from point Aand B . (1
Mark)
For joining with the points A and B. (2 Marks)

For completing and correct labeling the triangle. (1 Mark])

(F5)c B 48L8E? L2 e ABCEBE s ti§aln L]

& AB = demus 5 L(A1)
1 EE el F de B ALE(A D)
_gitbe Bl ALB(#2)

_,;LJ'/JF":;J:JJFL;J‘{&—LE*(/:} 1)



a ) A bus starts travelling at 6 : 15 a.m. and stops at 9:50 p.m. Find the journey time. (8 Marks)

(/7}8:'-@/(:&"::';”b’j"_{_j..r..-;giﬁ[}.:.ri.u.!l{_.J/f,ﬁfj’;_:ﬁ : 155&.{'

Departure time =6:15a.m=6:15 (1 Mark) :_gjgf,”:mlﬁggﬁ:lﬁ (/:‘71)
Arrival i =9:50 p.m=21:50 1Mark n r ;
il p-m _ [1Mark) 3364 T=9:500,221:50 (1)
Hours Minutes £
Arrivaltime = 21 50 (1 Mark) """ﬂ
Departure time= -6 15 (1 Mark) =k T=21 50(/1"1)
kS l=— O 15(/111)
Journey time = 15 hours 35 minutes (2 Marks) ; :
Sk po= 1545 30 #2)

,_..:I.::.:E/}":].E)g 352 #2)

Journey time =15 hours 35 minutes (2 Marks)



If the radius and height of a cylinder are 5cm and 12c¢m respectively, then find the volume of the cylinder. (T marks)

(ﬁtT)-u:;r’jl’”ggj,tb“;ﬂff@r l2;.!"/?&:?5?;;JEJ;&J}JJIJJKJ%_QIG

Radius= 5cm, Height=12cm (1 mark) sk =h=124F 1 =r=5/£fL2}5f(/=‘:l)
Volume of a cylinder=nr’h (1 mark) ﬁb’;:’t&nr h(~1)
Volume of a cylinder= (3. 14) % (5)° x (12) (2.5 marks) (fgj,;:tt (3. ]_4) % (5)2 X (]_2) (#2.5)

Volume of a cylinder=942cm3 (2.5 marks)

A6i=94222 55 _A(#2.5)






